[image: image1.jpg]aat





CBT Practice test model answers

Costs and Revenues (CRS)

Practice assessment 4
Section 1

Task 1.1
[image: image2.png]Central Bus Company Ltd had the following ticket rolls in inventory:

INovernber 14 1,600) 805 1288
INovemper 28 1,600) 815 1304
IDecember 8 3,200 820 2624

Drag and drop the correct cost into the box below to record issuing 1,800 of these ticket rolls on
9 December and to record the inventory balance of these ticket rolls after the issue on 9 December using:

+ AVCO (weighted average cost)
«FIFO (firstn first out)

23740

21458

23758

21476





Task 1.2
[image: image3.png]Drag and drop the correct entries into the Journal below to record the following FOUR accounting
transactions:

1. Receipt of parts into inventory paying on credit.
2. Issue of parts from inventory to maintenance.

3. Receipt of parts into inventory paying immediately by BACS.
4. Retum of parts from maintenance to inventory.

o
[Transaction 1 Dr. Fuel and Parts Cr. Fuel and Parts
oo
e o o
Stores, Cr. Fuel and Parts
[Transaction 4 Dr. Fuel and Parts Dr. Sales Ledger
Cr. Vehicle Cr.Bank

Waintenance and
Repairs





Task 1.3


[image: image4.png]Complete the timesheet below to calculate a driver's total pay for a week in December.
(Notes: Zero figures should be entered n cells where appropriate; Overtime premium is just the premium
paid for the extra hours worked.)
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Task 1.4
[image: image5.png]Vehicle  Fueland  General
Maintenance  Parts. Admin
andRepairs  Stores  stration

Scheduled  Contract
Services  Services
£ £

Basis of

apportionment Totals £

[Depreciation charge
lfor buses

(Carmying amount of buses 1699200 660800 2360000

[Diesel fuel and other [Number of miles 1231048
variable overheads

1687600)

[Rentand rates of _[Floor space 257040 89760 61200 408000|
fpremises

[Light heatand _[Floor space 104832 36608 24960 166400)
lpower at premises

indirect labour [Allocated 430600

528400 1167352

Totals. 2031148|  1116452| 792472  324720] 614560

79352|

[Reapportion Vehicle
IMaintenance and
[Repairs
[Reapportion Fuel 227304] 97416 324720
land Parts stores

198118 792472]

[Reapportion 399464]
(General
[aaministration

614560

[Total overheads to
proft centres

1627082

79352|





Task 1.5
[image: image6.png](a) What would be the budgeted overhead absorption rate for the Scheduled Services profit centre,
based on the most suitable method of recovering overheads?

ss0/mile

£100mour

£150/mile.

£300mour

(b) What would be the budgeted overhead absorption rate for the Vehicle Maintenance cost centre,
based on the most suitable method of recovering overheads?

ss0/mile

£100mour

£150/mile.

£300mour





Task 1.5, continued
[image: image7.png]{c) Assuming that exactly the same amount of overheads was absorbed as budgeted, drag and drop the
two correct statements into the box below to record the under or over absorptions:

m

Scheduled Senices over ‘Scheduled Senvices
lscheduled Senvices absorbed £50,000 under absorbed £50,000

Vehicle Waintenance Vehicle Maintenance over|

|Vehicle Maintenance under absorbed £25,000 ‘absorbed £25,000





Section 2

Task 2.1

[image: image8.png]Drag and drop the correct figure into the box for each of the following

A The sales revenue per mile ifthe contractis for 10,000 miles.

B. The variable cost per mile fthe contract s for 12,500 mil
C. The fixed cost per mile ifthe coniract s for 12,500 miles.
D. The total cost per mile ifthe coniract s for 15,000 miles.
E.The profitper mile fthe contract s for 15,000 miles

Drag and drop che

les.

2120

2192





Task 2.2

[image: image9.png]Use the table below to calculate the required number of miles for this contract to achieve its target profit.
Enter contribution per mile to two decimal places.

[Fixed costs 115000
[Target profit 60000
[Fixed cost + targst proft 175000
|sales revenue 220000
|Variable costs 80000
|contribution 140000
|contribution per mile 35
|Required number of miles to achieve target profit 50000





Task 2.3

[image: image10.png]Complete the table below (to two decimal places) to recommend which route(s) should be operated next

week to maximise profits.

Scheduled route RT1 Total
[Contribution per mile (£) 168 24] 20

[Contribution per ariver hour (£) 336 400 425

[Route ranking 3] 2| 1

[Driver hours available 62|
[Driver nours allocatedto each route 10 24] 28
INumber of miles to arive in the route: 200 400

[Total contribution eamed £) 3360 9600 11900 24860
lLess: ixea costs £) 17800)
[Profittoss made ) 7060





Task 2.4

[image: image11.png]Complete the table below to show a flexed budget and the resulting variances against this budget for the
‘quarter. Show the actual variance amount, for sales and each cost, in the column headed ‘Variance'.
Adverse variances must be denoted with a minus sign and zeroes must be used where appropriate to
gain the marks. Do not use brackets. Round to whole £°5 throughout.

Flexed

Actual
tiss Actual

|Miles travelled

[sales revenue 275000 257,000 -18000
L% e | s oo

loperations





Task 2.5

[image: image12.png]The net present value of Model C

Year0 Year1 Year2 Year3
€000 £000  £000  £000

[Capital expenditure  Disposal praceeds 630 210

[Revenue a6 1024]

(operating costs 485

et cash flows 30| 1| 408

PPV ractors
Iiscounted cash flows 444
et present value
The net present value of Model D
Year0 Year1 Year2 Year3
€000 £000  £000  £000
[Capital expenditure  Disposal praceeds
[Revenue ses| 1022]  1050)
(operating costs EES
et cash flows 429
PPV ractors 10000 | 08772 | 07685
Iiscounted cash flows B
et present value 23]





�Sunday hours





The figures for Sunday hours in this task may be entered as 3 hours of double time made up of either:�


£42 basic pay plus £42 overtime premium.


(as shown in the model answer); or





£0 basic pay and £84 overtime premium, viewing all of the hours on Sunday as overtime premium.�


Both methods are equally valid for the purposes of this assessment.





Please note that the figures in the Total row will need to be duly adjusted if using the second method.
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